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Trigonometry
Study Guide 15
Due Date: O\ Mq

No Work < No Points

Use Pencil Only < Be Neat & Organized

1. Consider sin 35° cos 55° + cos 35° sin 55°
(a) (2 points) Use your calculator to find its exact/value (_B
SIN25°COS HY’ ¥ LOSHD SINGD” \/

()

(b) (2 points) Use a known formula to simplify it, and then evaluate it.
SN (A1) SINACOSP 5 CosAsnP /\
| § 7 O
(b)

in (2%°+5%°) = Sifd0M =

2. Consider cos55° cos 10° + sin 55° sin 10°

(a) (2 points) Use your calculator to find its exact valu‘e.
C0355°c0s510%% 5N’ SN0’ = O@m
| of &= () =
(b) (2 points) Use a known formula to simplify it, and th uate it.
05(A-B) = CosRCOS B+ SinASNDS ' O
6"): — oY 03(0:1'
2

= C0$(55™-\0") > cos(4 .

L 2tan225°
3. Consider T tan?22.5°

(a) (2 points) Use your calculator to find its exact value.
T I
K a

|- xon?22.5° .
(b) (2 points) Use a known formula to simplify it, and then evaluate it.

Q.—kgn %Lli;i)o: ron (25225 = Ton 4%° =\
| - +tant21
(b)
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Rectangle

NonStudent
Pencil


. . 3 o4 . o
4. Given sinz = 5rcosy =~z is in quadrant I, and y is in quadrant III.

(a) (3 points) Draw two different right triangle and clearly label them.

\ S1VA
cx‘lua‘i a2 Uo26- a: \(9/ T N

2 §
(b) (3 points) Find the exact value for sin2z.

Sing2®= 25\m<cosx
J‘ \ _Q_ "___'0 ""——$
S 2.6
(b)

C

0241472 29"
G2o-b1p=44 ~ &%

(c) (3 points) Find the exact value for sin(z + y).
SNOry)= Sin Kot COSASINS _-100_|_A4
~B=n4 8, % = JHLL - 2% \15"\ 5\
5 25 D 29 126~ 125
(c)
(d) (3 points) Find the exact value for cos(z —y).
cos(x- \5) OOSA Co}b 25 S\Y\AS\‘DB LN -1\ ‘i_\\% \
'?3‘ (%‘3 5 5._%- * s 115 LB

(e) (3 points) Find the exact value for tan%r + ). 3

- 3
ton(xty): TonA¥iank - 42 A e L
\ - TonAYOB a2 1-& 2%

21

24

29
_’_25;_ 32 _ - 22-° \ 4 5 2% ad. E:
24 " 244 \ 3 O
(f) 3 pomts) Find the exact value for tan—g- o) T L

/ * 25 _‘3§ -

anz- %‘7 23 7235 1A T -Lﬂ%
e \y-E 52 15 '2./7
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s : 3 2
5. Given sinz = 71008y = —¢, T is in quadrant II, and y is in quadrant III.

(a) (3 points) Draw two different right triangle and clearly label them.

i

@A ﬁ SO s ? - g5l&
1i8 . N O\ i A

)

')-"ITO al\’bl’c —
C S / 2% (") L
bt 340=Q - Ory 32 o o )
b=21Vig g =130: aMo 222 57
S R

(b) (3 pomts) Find the exact value for sm -

9\00(%4\%00 Sm?_: E. \l\ COSh s w}\a.’éﬂ_’é 3 .2+
R =
45" (L 00° a 1 I\ = =

AT +

(®)

oS (x—kp COS Acosg * SmASMS
N‘o“

?—

4O
(15

(d) (3 points) Find the exact value for tan(y 45°).

Lon( Y- 49°)= tan4s°% |\

-E;Qﬂ(O(“B) __\/'—*
2\ Y2\ - 2
onoc-ong T T \_, ) ‘215‘ Y
| £40p 0 \ -\12\_\\' Zl_*ﬂ oAV ¥
2 Sailesa 2 3
= o s et "
451N
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6. (5 points) Consider the graph below, draw its inverse if it exists, then complete
the chart below using the interval notation. ‘
) - e

(2,6)

z

o
e

! e

Domain Range

g | 5,2) [£2,6)
Inverse of the graph E’)_ ; CP\ EB ’)—)

7. (3 points) Use the table below to guess thef?ion,

£(x)

Flz) | 25| 10|17 26|37

ints: 50
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